| AL@ 72 Bellwork

AAANANANAND

2

/\

(/U&AJ J;V\ ’4(20‘5

7. What is the least common denominator for adding the

fractions &

A.

B
C.
D.
E

o

A

L
157 12°
40

120

180

480
1,440

5,\'9_\19
6,\'9}’3
6x9y9
55208

2
6x7%*

39
andg.

The product (2);4)!)(3,\'5_»:8) is equivalent to:
P q

9. It costs a dollars for an adult ticket to a reggae concert
and s dollars for a student ticket. The difference
between the cost of 12 adult tickets and 18 student
tickets is $36. Which of the following equations repre-
sents this relationship between a and 5 ?

A
B
C.
D
E

2a _
18s =36
216as = 36
[12a - 18s] =36
|12a + 18s| = 36

| 18a + 125| =36

10. If x > 1, then which of the following has the LEAST
value?

F.

G.
H.

J.

K.

Vi
V2x
VX x
x\/_;
XX

11. Charles defined a new operation, ¢, on pairs of ordered

pairs of integers as follows: (a,b) ¢ (c,d) =

ac + bd
ab—cd’

What is the value of (2,1) ¢ (3,4)?

HEQF>

-2
-1
2
5
10
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12. In the figure below, ZBAC measures 30°, ZABC mea-
sures 110°, and points B, C, and D are collinear. What
is the measure of ZACD ?

A

150°
140°
130°
120°
110°

R E O

13. In the isosceles right triangle below, AB = 10 feet.
What is the length, in feet, of AC ?

A

A. 5 10

B. 10

C. 20

D. V20

E. 10V2 B C

14. In a bag of 400 jelly beans, 25% of the jelly beans are
red in color. If you randomly pick a jelly bean from the
bag, what is the probability that the jelly bean picked
is NOT one of the red jelly beans?

F.%
G g
H 2
1 %
K.%

GO ON TO THE NEXT PAGE.
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